A rectangle has a length of (2x + 3) cm and a width of (x + 5) cm.

x+5

2x+3
(a) Find an expression for fhe perimeter ovf the rectangle.
2(2x+3) + 2(%x+5)
Uax + ( + 2x + 10

épc + / é
Cl t /é cm
2
(b) Given the rectangle has a perimeter of 43 cm find the value of x. 3
Ex +16 = 43
e = 27
X = 27 - j—’ — ? 5
A 2
95 5 [omj
)

(Total for question 2 is 4 marks)

o}




4

2x

3%
Find the value of x.

2o 4 2@ + 90
63@ + OIO

5x

i o

- 270

26 0O
= 560

5 4

5u°

The diagram shows a right angled triangle.

/
(Total for question 3 is 3 marks)

3x
4x
The area of the triangle is 294 cm’
Work out the value of x.
__:‘zx_q,xx%aa:;lq('f.
L o< 2x == 29 “
Goct = 27%
yr - 29¢ = 11T - 49
. é 3
e = (4T
- -/ [ ol
(Total for question 4 is 3 marks)J
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5

The sizes of the angles, in degrees, of a triangle are 2x + 9, x+ 13 and x—8

fe>

x+13

Work out the value of x.
DIoe +9 + X —8 + 2 + 13

e+ 1Y
px

2¢ =

(Total for question 5 is 3 marks)

18O
/ 80O
/66
166 - 83 -4/ §
v 2
g3
/.5 oo ~Z

6 The diagram shows a rectangle.
All measurements are in centimetres. / (7
2x+5
/ x x 7
3x-2 | 7‘
Find the perimeter of the rectangle.
5 = W — 2
7 = * |
—— 2 ( | ‘7) + 2 ( 7 \)
02 -

(Total for question 6 is 3 marks)
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7 The diagram shows a rectangle and a triangle.
2x + 11
x—5 X
2x+17
2x
The perimeter of the rectangle is equal to the perimeter of the triangle.
Find the value of x.
2()0'5) + 2(2x+7) — o5¢ 4+ 25c + 22 4+ U]
9 —(O 4o + 1l = S+l
Lse +4 = Soe 1]
w4 G g [
= = 7 : /
(Total for question 7 is 3 marks)
8 A 3x+5 B
5
D 5x-9 C
ABCD is a parallelogram

All measurements are in centimetres.

The perpendicular height of the parallelogram is 5 cm.

Find the area of ABCD
3x +5 = 5x
5 = 2.3t
(q_ = e
x = 7

3(7)rs5 = 2%

- 9

~ 9
26 x S

z
! 30 cm

(Total for question 8 is 4 marks)

_




/ . | )

9 The diagram shows a right-angled triangle.
All of the angles are in degrees.

3x

] 2x+ 10

Find the value of size of the smallest angle in the triangle.

3x + 2% +10 + 906 =180
S +/00 = /8°
5oe = §&©
se. = 6
2(1¢) = 458  2(16) +l0 = =

Yz

(Total for question 9 is 3 marks)

10 Adam has some marbles.
Bradley has twice as many marbles are Adam.
Chris has 5 more marbles than Bradley.

In total they have 55 marbles.

How many marbles does Chris have?
Hdam =

gfo\d;Lefj = Zx
CLl/I’I— 5 2 ZJC/ 7 5

Sfo ::55
S>x = 50
x- = [ O
(o F5d = 25 )
2 ) J 5 5 5

K (Total for question 10 is 3 marksy
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11 The size of the largest angle in a triangle is three times the size of the smallest angle.
The other angle is 35° more than the smallest angle.
-« t 225
Work out, in degrees, the size of each angle in the triangle.
You must show your working.

Y5 4+ = + X+ DS = 18O
S5x + 35 = 1§80

55 = 145

v = 27

1

99 + 35

¢t
2(29) = &7

27 o’ OfeL o, 87 o

(Total for question 11 is 5 marks)

2 o< oC
12 Lucy is three times as old as Alex.
Lucy is 7 years older than Megan.
The sum of their ages is 126.

Find the ratio of Alex’s age to Lucy’s age to Megan’s age.

Al-ex = 2%
LU\LU = 3 oC
M,e,aom - 3~/

I 2 6

i

Jx - 7 = 26

o = 1

{

ST = 19:67:50
(Total for question 12 is 4 marlv




(Solve X+2x-7=0

Give your answers in the form atbh/ec.
a =/ b=2 cz=—7

2= —(2) T2y -4(1)(-7)
2(17)

=-)*2/2

(Total for question 7 is 4 marks)

8 Solve x¥*-4x-1=0

Give your answers in the form a +V/b .

a=1 b=-¢% (=-/

—(-4) L () -4 (i) (1)
2(1)

2 {5

X =

N

(Total for question 8 is 4 marks)

9 Solve x*+6x—-11=0

Give your answers in the form a + bv/c .

a =/ b=6 c=-1//

—(6) TV () =4 1) -1)

x =
2()

- - 3t 2{5

(Total for question 9 is 4 marks)J




B (10, 6)

N/

4 (0,1)

¥

9, X
A is the point (0, 1)
B is the point (10, 6)

The equation of the straight line through A and B 1s y:;— x+1

a) Write down the equation of another straight line parallel to y:—lz- x+1

\
SEzZ (1)

b) Write down the equation of another straight line that passes through
the point (0, 1)

----------------

¢) Find the equation of the line perpendicular to AB passing through B.

AB Crudat = e
Pecp. gookert= —d

(\O,g> 3:»;L:L,+C
* =
& —~2(l®)*”(\
L<-20+¢
C -2l Y=l 26 (3)




2.

A straight line, L, passes through the point with coordinates (4, 7) and
is perpendicular to the line with equationy = 2x + 3.

m=T
Find an equation of the straight line L.

perp. grodient = =4

() 97 xS

x 2 7 < "/LCLQ T C
T7= -2+ C
.= 4
95727 (3)
3.

A straight line passes through the points (0, 5) and (3, 17).
Find the equation of the straight line.

Z, Y X2 Y2
me D=L
Loz = Ky
- 17"5
P
3 -0
= 12
=3
= 4
((’D/ ’5) :j = oo+ C
* I syz (et ©
c=z5
y:(cdz,fS'



4. Show that line 3y = 4x - 14 is perpendicular to line 4y = -3x +48.

3Lj~;q,3(,~t‘+ (¥3) Lé’j: meC WS (+~w
_— o
9 s g et
7.
Mmz= & -
g pmr S
@
.jiz -3 - — |
b W
R .
‘-}——_"'——‘_—M

5. Here are the equations of 5 straight lines.

y=2x+5
: y=—2x+35
: y=x+5

ol I

y:—12—x+6

]
T: y=—x+1
y=5x

a) Write down the letter of the line that is parallel to y=x+6



6. The point A has the coordinates (2,5)
The point B has the coordinates (6,7)

a) Find the mid point of AB

\426). ()

b) Find the gradient of the line that passes through AB
we D27 (2,9 (&)
X2 -k X D X1 9a
- 1~ S
6 — 2
- /2; = oL {
4§ b /2

---------------

¢) Find the equation of the perpendiucular bisector to AB

pe(()e/\d‘lu,(ﬂw 3@9&0’0{' c -2
a: ~Q,:)C,+ C KL(’/ 10)
x 9
L -2+ C
=—-% +C
C = |‘—‘~

j:’wa{f (3)




p oy 7
A circle C has centre (2,5)

The point A (11, 8) lies on the circumference of the circle

X Y

Find the equation of the tangent to the circle at A

Gradiot o radius: Jo -

e

Az X

/D»-€/Peno('/cu/(c,»f &(%U[;JZAF = ~3

g = - o, € “;’i)
= ,3(‘//) ¢ C
8:‘-.—3’7+C’

¢zl




8. A cirlce has the equation x”+y”=5

a) Write down the centre of the circle

().

b) Write down the exact length of the radius of the circle

P is the point (1,2) on the cirlee x*+ y* =5

¢) Work out the equation of the tangent to the circle at P

Lo 9 Xz F X, -
~ 2-0
-6
- 2
P@ﬁp@nd?aeyﬁatf 9/00,('12/& - _,(z
VEREPZEE (12
I AORNE
2t~ +C
272 & L

cccccccccccccc

(1)




=~

iy
al=
T ————

:

9. The diagram shows a circle of radius 5 cm, centre the origin.

yh

ON

o

(o =)

I

—
=

o

ey

-
R
=

[y

v~

A

N

Find the equation of the tangent to the circle at (3,4)
| x Y

Yo -9
—
Zo-*

=

= &
3

ospondicod e . caik = = B
(0 I,ﬂ ()('oub'( 3 l‘[,

Y - Y T C

£ £
n

}

A\

W



Here is the graph of y=x>~2x-3

]

-

——

-

-y

e

i

-

« W

yd

a) Write down the turning point of the graph y =x>—2x—3
€)) gp graph y

(b) Use the graph to find the roots of the equation x*—2x—3=0

(Total for question 1 is 3 marks)

/




Here is the graph of y=2x+ 6 —x’

I
T

—~
NG
"

)

Tl

——
—

« W

[I\.) k

Vo
el

(a) Write down the turning point of the graph y=2x + 6 — x>

(b) Use the graph to find the roots of the equation x*= 2x+ 6

—/ 6 and 3 6

~ 2)
(Total for question 2 is 3 marks)

cé&(fplf -1.6 7’;”;;54
3.5 ‘
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3

Here is the graph of y=x"+2x—5

y A
8“ |
\ |
\
\ 1
I
I
\ :
| 4
|
|
\
1
4
(7 2t - =B
% -
A
I
\
\ i >
-6 -4 - =2 o, 2 4
\ : / 6 x
\ . f
\
-2
/
\
\
Ty
A -4
\
/
\\
Nl 6

(a) Write down the turning point of the graph y =x"+2x -5

(Total for question 3 is 3 marks)

)




/

4

Complete the table of values for y = x* +x — 6

x | 3 | 2 | <1 | o 1 2 3
y | O | -4 | -6| 6 -4 0 6

v A @

g

S

Tl

LI

(a) On the grid draw the graph of y=x"+x— 6 for values of x from -3 to 3 2

(b) Use the graph to find estimates of the solutions to the equation x*+x—6 =2

...........................................................

2
(Total for question 4 is 6 marks)

(_2'64_‘3»2_.5 _
1.3 Yo \. 6 J




1 Below is the sketch of a speed time graph for a cyclist moving on a straight road for 7 seconds.

v(ms™)

v

(0] 3 7 £(s)

(a) Work out the acceleration for the first 3 seconds.

QclElerataon ™= jr adrent

c/m/zgf A v 5 -2

chan/jeixzja 3-0

3
< =

(b) Calculate the total distance covered by the cyclist.

/’oFaf p[[jfﬂﬂc_e = area wnder grapL-

5]
3
5 20
[ 6] ‘,_J 305 m
3 o4 |

(Total for question 1 is 4 marks)




2 A sprinter runs a race of 200 m.
His total time for running the race is 20.32s.
Below is a sketch of the speed-time graph for the motion of the sprinter.

Speed
metres

per
second

ol - g

2032

Time (seconds)

(a) Work out the maximum speed of the sprinter during the race.
Totakl carfa = Qoo m
-Tb‘/'a/( mes}aa(e U,M(e/ 3,070&

ATl s
o 2

Q.50 +1532x =200

\7.§2x = 200 e
2= 200 =iy 2
177-82 (%SJ— )

(b) Calculate the distance covered by the sprinter in the first 5 seconds of the race.

5012~ 9% m
-+ k%s?)

(Total for question 2 is 6 marks)



3  Here is a speed-time graph for a train journey between 2 stations.

W |y ,

Speed o

Time (t seconds)
The train travelled 2km in T seconds.

Work out the value ofT.\ 2000 N

//ofcu(, Alsteannce = creo cinoler JralaL

|5 00M \n AO secondS.

HOOO - 15O = DOOMm (o)

Jox - coo GotGe= 140
20 | o iy
0O (O = S06 | 4O

;{,::'350 """""""""""""""""

e (Total for question 3 is 3 marks) _



- A

4  Here is the velocity-time graph of a car for 50 seconds.
A
7 ] I
e -
30 s
z . ;
: : :: » - A . - : +
20-H+ : y i
Velocity |- : ; i
(m/S) T : i i
10— :
/ T i
L E ;
RV AEREREw E :
0 ’ i 4 i ’ ’
0 10 20 30 40 50
Time (s)
(a) Work out the average acceleration during the 50 seconds.
Give the units of your answer.
2 3
L = O.6ms
50
C.ems .
2
(b) Estimate the time during the 50 seconds when the instantaneous acceleration = the average
acceleration.
You must show your working on the graph.
ol L Seconds
2
(11 =13 seconds)

(Total for question 4 is 4 marks)j




1 Write down the equation of a line parallel to y =3x+2
[xj -3z 2 ﬁnﬂ)(\’\} n\gt}
JZ3X T

(Total for question 1 is 1 mark)

2 Write down the equation of the line parallel to y = —%x +5 which passes through (0,2)

(Total for question 2 is 2 marks)

3 Write down the equation of the line parallel to y =—x+ 1 which passes through (0,-4)
j = — >OC — l‘l’
(Total for question 3 is 2 marks)
4  Write down the equation of a line perpendicularto y =3 x+3 .
( +
—_ - | = ’/I—ﬁ“ﬂn’“’”j]
— /
m Z ]j ‘j 3
|
- -—=x + |
...... A R
(Total for question 4 is 1 mark)
5  Write down the equation of the line perpendicular to y = —:lzx — 4 which passes through (0,7)
m= -2
= =Ax Tt/
(Total for question 5 is 2 marks)
6  Write down the equation of the line perpendicular to y = -—% x — 1 which passes through (0,-8)
me 2
3

\ i (Total for question 6 is 2 marka)j




4 N\

7  Find the equation of the line parallel to 2y — 3x + 2 = 0 which passes through (0,4)
_ 3 e
= = x |

m==
2

(Total for question 7 is 2 marks)

8  Find the equation of the line parallel to 2x + 5y = 10 which passes through (0,-3)

9= 5% -3

(Total for question 8 is 2 marks)

9  Find the equation of the line perpendicular to 5y = 2x —4 which passes through (0,7)

§ze %

\ge(peqol'lcwtotr M = '%

(Total for question 9 is 2 marks)J




~ )

10 Here are the equations of five straight lines.

= 2
LineA y=2x-3 A fh—
LineB 2y=x+3 e Y= A x A % m= 43
LineC 4y=3x-2 = .
LineD 2y=4x-—1 I Y m= 3
LineE 3y=2x-2 C N 2 "t
Two of these lines are parallel. b= 4= 2y - 'IE {VL'—‘——E
Write down the two parallel lines.

Line 9 ....... and Line D .........
(Total for question 10 is 1 mark)
11  Here are the equations of five straight lines.
LineB 2y=x+1 , o e e
LineC y+2x=3 B Y- - F 1 2
LineD y=4x-2 E ——
- y= —22xx +3

Two of these lines are perpendicular.

Write down the two perpendicular lines.

(Total for question 11 is 1 mark)

. /
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X, 7, X Y.
12 Line A passes through the points (2, 1) and (5, 10)

Find the equation of the line parallel to A that passes through (2,5)

= o9
Ly =%y
- | q
= 10 = - =3
G-2 3 =

v:%;ﬁ+¢ (2,5)
5_— 3(&3 + C

15 = é 1= C
& = t
¢ —
Y= Fo ke R |
(Total for question 12 is 3 marks)
1/ jf :Zl jl—
13

Line A passes through the points (1, 5) and (5, 7)
Find the equation of the line perpendicular to A that passes through (-1,7)

I ‘jL ‘(j/
12'1/
Z.
—_ 7"’5 = _—— = ,‘,—
/-/}' [ va
)QC’YP. m= — 0
= - 2= + C (/llﬂ)
j_,
- - C
9= -2(-1) *
—’I g 2 + C
c=5
B it S S
(Total for question 13 is 2 marks)

j
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K 20 Y A Ya \

Line A passes through the points (-2, 1) and (4, 10)
Find the equation of the line parallel to A that passes through (2,7)

15

m = ?j_;j’
)fl'l/
) e 2
= /’-9/ = ,j—— = }
4"_,2 b z
T=2(2) ¢
2
= 2 1 C
c =4
e
9=%> +¢
(Total for question 14 is 3 marks)
x, ‘j! X, ‘ﬁl-

Line A passes through the points (2, -5) and (10, -1)
Find the equation of the line perpendicular to A that passes through (4,3)

N\_: '\ﬂ¢"l/.)l
X, -
—-'-I__-5 e ¥ pn [
— ~
1o—2 8 2
O)erlo m= -2

(Total for question 15 is 2 marks)

/




i/ ‘j/ X 2 LJ 2
16  Line A passes through the points (2, 1) and (5, 10)
Line B passes through the points (4, 7) and (2, 1)
Show that Line A and Line B are parallel.

17  Line A passes through the points (1, 5) and (5, 7)
Line B passes through the points (-1, 7) and (2, 1)
Show that Line A and Line B are perpendicular.

A: m=z 7-5 = £ = L
5 - ¢ _Z
J—- 2 = ——l
5 X

A m= .\dl'q' m= | = 7T _ -:__%:3
-Iz’l/ 9 -4 — 5
- ) B - 3
lozl= Lo M
5~2
=5
Dome aradient )oaraﬂ.d<
(Total for question 16 is 4 marks)
Z j/ Zz yg

(Total for question 17 is 4 marks)

/




:Z( %/ :{ 2 Lj 7
Line A passes through the points (3, 6) and (5, -2)
Line B passes through the points (2, 5) and (8, k)

Line A and Line B are parallel.

Find the value of k.

,5’ E 27 e — -

k= A

(Total for question 18 is 4 marks)

19

jl ‘j / 1 A %L
Line A passes through the points (-3, -1) and (-1, 9)
Line B passes through the points (-2, 1) and (k, 4)

Line A and Line B are perpendicular.

Find the value of &.
- =11 _ 160
A : = 1 — _;
i =~3
me -k
pery G
[ y — |
6 T = —_
) K——72
| _ 3
=l &
o o +2

~—

5

~hk =2 = 18
___2:\54'((
ko= -1
/“——

k= —’7

..........................

(Total for question 19 is 4 marks)

)
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1

The line L is drawn on the grid below.

h

(V8]

N

fa—

r' N

Find the gradient of the line L.

h

...................................

(Total for question 1 is 1 mark)

2

The line L is drawn on the grid below.

Y

[¥]

™

W

[ *]

Find the gradient of the line L.

..................................




( The line L is drawn on the grid below.

A

v

Find the gradient of the line L.

...................................

(Total for question 3 is 1 mark)

4  The line L is drawn on the grid below.

N
>

et

S

~

w

N

S5 4 3 2

Find the gradient of the line L.

...................................

(Total for question 4 is 1 mark))




4 R

5  The line L is drawn on the grid below. A y

(¥}

/
/

N

Find the gradient of the line L. v

(Total for question 5 is 1 mark)

6  The line L is drawn on the grid below.

(9,1

o

w

\

-5

Find the gradient of the line L.

-----------------------------------

K (Total for question 6 is 1 mark)j




9

8

7  Find the gradient of the line that passes through (2, 1) and (5, 10).
.Z/ % I)- ‘j 2
m= %29
Jz - 'x/
. 00— 1
5-2
- 7
3
............. S
(Total for question 7 is 2 marks)
Find the gradient of the line that passes through (5, 4) and (7, 0).
4 L d-
7 -5
B e G
=
Z
.o

(Total for question 8 is 2 marks)
Find the gradient of the line that passes through (-3, 4) and (5, 8).

‘:l/ j/ 12 jZ

y - &
- 4
5--73
_ L
B e
g
__ {
o /
& (
2— ............
(Total for question 9 is 2 marks)

)



10  Find the gradient of the line that passes through (3, 7) and (1, 10).
H .I/ j/ -2 A yl
m = y& - Ji
-/z'g - X /
/| = 3
_ 3
-2
-~ -/ 5 - 1.5
(Total for question 10 is 2 marks)
11  Find the gradient of the line that passes through (1, -1) and (-3, -9).
‘Z/ y/ D) &
m= -7 - —1
— 3 - |
= - g
.
-
= o
(Total for question 11 is 2 marks)
12  Find the gradient of the line that passes through (8, 1) and (3, -3).
4, % Za j T
m= —3—1
2 — ]
- =%
N
e 5
- 4.
5 -
SO I
(Total for question 12 is 2 marks)

/



13  Find the gradient of the line that passes through (3, -1) and (-2, 9).
‘Z/ \j / l 2 \j 2

m= 7 -7
-2 -3
= /O
—5
=

(Total for question 13 is 2 marks)

14  Find the gradient of the line that passes through (-1, -2) and (-3, 10).
Z./ .Ijl ,Z.L 7 1
- O -

= / 2

- 3 -~
— i 2.
-2

- — ¢
(Total for question 14 is 2 marks)
15

Find the gradient of the line that passes through (-3, 4) and (-5, 7).

2/ y/ /ZL j(,

ws,-—3
S 1
-2
= — /.5

(Total for question 15 is 2 marks)

N /
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16 The line AB passes through the points A(2, -1) and (6, k).

The gradient of 4B is S. LY 2. J>
Work out the value of 4. 5 - |
(AN )
g = ko + |
o

PR Ty

(Total for question 16 is 3 marks)

17 The line 4B passes through the points A(-3, 4) and (k, 12).

The gradient of 4B is 4.
Work out the value of . 9, - ]2 — ¢
K —=-3
6B I
K+ 3
(ke +3) = 8
kK +3 = &
e = —|

Z Y. 2, Yu

(Total for question 17 is 3 marks)

18 The line AB passes through the points A(-2, k) and (4, 8).

2, Jv
The gradient of 4B is -2. 27 % &
Work out the value of £. —1 = L — R
Hp — — 2
- = g —
&
w13 &= § —K
— ]2t = ¥
K. =220

=

(Total for question 18 is 3 marks)

/




-

1 Work out 10% of £95

/0
£l 8.0 e
(Total for question 1 is 1 mark)
2 Work out 50% of 1200 grams /200
2
..................... 500 grams
(Total for question 2 is 1 mark)
3 Work out 1% of 200 litres
2o o
e i
/o O
.......................... Z'htres
(Total for question 3 is 1 mark)
4 Find 21% of £160 : - ' y
/60  — ;¢ /§r2 = 32 C?—O/o>
o=
/O '
o 29 + .6
= /.6 7
Too Q >) ... 2260
(Total for question 4 is 2 marks)
5 Find 45% of 820 o
; 820 - 40 (50%) ¢ 1o
2 — ¢!
410 - 41 (5%)
e ST -2 SR
(Total for question 5 is 2 marks)
250 - /25 (5_;0)
. //‘
6 Find 36% of 2500 /Z_'/S_,Q.Q - 250 2 )
e . ) z52 = 2
, - O ( 30 o /00
250x3 = 7°

750 tI125125 (Total for question 6 is 2 marks)

\__ /




4 )

7  Work out 252% of 120.

o070 T 120
[20x% 2 = 240 (200%) '
24 0
. e
L_Z,Q = 60 (50/0J + 2. %
> .
|2 O - /.2 </;o)
oo 302% ....................

- 2. A
/.2 x 2 = z GL ( 0) (Total for question 7 is 2 marks)

8 Which is greater
25% of 90 or 28% of 82

You must show your working. % = & 2
/0

1€ = 5 S0 7, e

4/;". ~22.5 (257) %2 - o .52

_— /] OO

082 x 2= [ ¢7 (2/0)
2¢4.6 — .64 = 22-96

(Total for question 8 is 3 marks)

9 Which is greater
30% of 105 or 32% of 98

You must show your working. 78 - 9.8
To
/o5 _ o
"7"0_— = &. 5 ?3/\,3 = 276" (?0/0)
78 - 0.9 ¢
lo. 5k 3 = 31.5 e )
294 +1(9€& = B/ﬁ

(Total for question 9 is 3 marks)

\ » ),
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10

Richard gets a bonus of 30% of £130
Connor gets a bonus of £40

Work out the difference between the bonus Richard gets and the bonus Connor gets

.......................................................

(Total for question 10 is 3 mark)

11

There are adults and children in a cinema.
There are 48 adults.
25% of the people at the cinema are children.

Work out the total number of people at the cinema.

48 = T575
~ 3 -3

| & = 25/
X ¢ x ¢

6 T

.......................................................

(Total for question 11 is 3 marks)

_/




12 David is paid £34000 per year.
He is going to get a 3% increase in the amount of money he is paid.

Work out how much money David will be paid per year after the increase

34000 _ 3¢ </}0)

/oo

340 X 3 = ]Joz2o0
B4 oo 0
+ | o2 o
35 02 0

.......................................................

(Total for question 12 is 2 marks)

13 Abbie buys a sofa for £540
She pays a deposit of 15% and the rest of the money in monthly payments of £17.

How many monthly payments will Abbie need to pay?

’
f¥0 =54 (lop) 5#b

/O — & |

s¢ =27 (57) ¢ 57 lejt b

(Total for question 13 is 3 marks)

N _




14 Dermot bakes 420 cakes.
He bakes only vanilla cakes, banana cakes and lemon cakes.
120 of the cakes are vanilla cakes.
35% of the cakes are banana cakes.

Work out the number of lemon cakes Dermot bakes.

420 = ¢ (r02)
/0

20
. —/ 2 0
¢ x 3 = 126 (30/0) 5t &
— 4% T
/] 5 3
[2¢ + 2 = 17
152
(Total for question 14 is 3 marks)
15 Amelia and Sophie did a test.
The total for the test was 75 marks.
Amelia got 56% of the 75 marks.
Sophie got 43 out of 75
Who got the highest mark?
You must show all your working.
75 = - ' 5o c/o 37.5
75 = 375 ( ) °.
2 EX
. ) + ©0.75
17.5 - 3.75 (57 %20@
[/ ©
75 = & (//") QZ }qm-@(d\ o
,ﬂ 7 S

(Total for question 15 is 2 marks)

_/




16 Zoe wants to buy 6 tins of beans for the cheapest possible price.
Shop A and Shop B both have a special offer.
Shop A Shop B
5% off the normal price of 48p 65p each
(emyA) Buy 2 get 1 free
Which shop should Zoe buy the beans from?
You must show how you get your answer.
6 x 048 ket 6
L X O -
bl feee
a 14
L2 g8
0% = 23.% ¢ Slep B
57, T 2% 4 £ —
— = .6
2 .88 Gad _é__%___——t (Total for question 16 is 3 marks)
17 Gary buys a dress in a sale.
The normal price of the dress is reduced by 20%
The normal price is £36.80
Work out the sale price of the dress.
3670 =t348 ((07)
20—
] ©
3.c5 % 2 = 17 36 (202)
z_ 0 Ty
e go
7. 3 &
27 ¢4
oo e LT

(Total for question 17 is 3 marks)

)




18 Holly invests £500 for 4 years in a bank account. \
The account pays simple interest at a rate of 1.5% per year.

Work out the total amount of interest Holly has got at the end of 4 years.

I
j ©O
5 = 2.5 (O'Sc/°>
Z g “
5 L 2 .5 - 7. 5 (IS/.))
7.5 x ¢4 = 30

(Total for question 18 is 3 marks)

19 Phil invests £800 for 3 years in a bank account.
The account pays simple interest at a rate of 2% per year.

Work out the total amount of interest Phil has got at the end of 3 years.

w - E$ ( / //c| )
] & O ( .
e, = e 22)

(Total for question 19 is 2 marks)
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1 Write down the ratio of 350 cm to 25 cm.
Give your answer in its simplest form.

250: 25

=g5 T8
[ l

.......................................................

(Total for question 1 is 2 marks)

2 Write down the ratio of 220 kg to 5 kg.
Give your answer in its simplest form.

220 5
) =5

by - |

......................................................

(Total for question 2 is 2 marks)

3 Alex has the following coins:

Write down the ratio of the value of Alex’s 20p coins to the value of Alex’s 50p coins.
—

4o 150
15 |
B, A T

(Total for question 3 is 2 marks)




4 )

4 (a) Write the ratio 32 : 24 in its simplest form
& -~ 8
-3

473

(b) % of people in a class are left handed.

Write the ratio of left handed people to right handed people

/[ . 8
Lo 2
7

7

(Total for question 7 is 2 marks)

5 (a) Write the ratio 15:35 in its simplest form.
g 27

> 4 3.7

....................................................

1
(b) There are red shapes and blue shapes in a box, % of the shapes are red. v
Write the ratio of red shapes to blue shapes.
£ L
>0 2.0 .
9 M

(Total for question 9 is 2 marks)




- A

6 (a) Write the ratio 81 : 27 in its simplest form
29 2
73
3 <3 ' ’ 3 : (

3] 1)

(b) % of chocolates in a box are white chocolate, the rest are milk chocolate.

Write the ratio of white chocolates to milk chocolates.

3 - 5
I

(Total for question 6 is 2 marks)

7 (a) Write the ratio 24: 72 in its simplest form.
g -8
39
/3 S A |

)
(b) In February, it rained on % of days
Write the ratio of the days it rained to the number of days it did not rain.
3 *
7 7 3 . 7,
(1)

(Total for question 9 is 2 marks)




8 Write the ratio 7.5 :2.5 inthe formn : 1
~2.5 —<2.5

31

......................................................

(Total for question 8 is 1 mark)

9 Write the ratio 12 : 30 inthe form 1:n
6: 15
25
) 2.5

.......................................................

(Total for question 9 is 1 mark)

10 There are some cubes in a bag.

—é— of the cubes are red.

The rest of the cubes are blue.

Write the ratio of the number of red cubes to the number of blue cubes.
Give your answer in the form 1 : »

L. 5
6 A
| =5

...................................................... .

(Total for question 10 is 2 marks)

N /




11 There are only blue counters, red counters and yellow counters in a bag.
g:Y
There are twice as many blue counters as yellow counters. 2
There are three times as many red counters as yellow counters. Ly
3
Write down the ratio of blue counters to red counters to yellow counters.
B:RrR Y
(Total for question 11 is 2 marks)
12 There are only green pens, black pens and red pens in a box.

There are four times as many green pens as black pens. ¢ |
There are twice as many red pens as green pens. 4§

Write down the ratio of green pens to black pens to red pens.
G B R
o )8

(Total for question 12 is 2 marks)

/




13

Charlotte, Jo and Mike played a game.

Charlotte’s scored four times as many points as Jo.
Mike’s scored half as many points as Charlotte.

Write down the ratio of Charlotte’s points to Jo’s points to Mike’s points

c - J - m
T

(Total for question 13 is 2 marks)

14

There are 120 people in a school canteen.
Half of the people in the canteen are in year 11 students. e,

The number of year 11 students in the canteen is three times the number of year 10 students.
The rest of the people in the canteen are year 9 students. 60 - 2 0

3
the number of year 9 students : the number of year 10 students = # : 1

Work out the value of .
You must show how you get your answer.

|20 — L0 — 20 = GO Yere

(Total for question 14 is 2 marks)

/




15

In a bag there are blue sweets, red sweets and yellow sweets.

The number of red sweets is three times the number of blue sweets.
The number of yellow sweets is half the number of red sweets.

Write down the ratio of blue sweets to red sweets to yellow sweets.
Give your answer in the form a : b : ¢ where a, b and ¢ are whole numbers

g - r Y
/| -3 /.5
2 & 3

.......................................................

16

In a bag there are blue sweets, red sweets and yellow sweets.

The number of blue sweets is four times the number of yellow sweets.
The number of red sweets is half the number of yellow sweets.

Find the percentage of sweets in the bag that are yellow.

B - 4
g - 0.5 -/
g - > 2

R

/]

—_—

7 X /0O

%

(Total for question 16 is 2 marks)

[ /5.
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1 Will and Olly share £80 in the ratio 3 : 2

Work out how much each of them get.

B0 —5 = |6
16 = 48
zx L= 32 wil e 43
X = ;
olly LoDk

(Total for question 1 is 3 marks)

2 Molly, Paige and Demi share 42 sweets in the ratio 3: 2 : 1

‘Work out the number of sweets that each of them receives.

gjnjapalENeE

ba =6 = 7
3 wx 7 = ol Molly 9~ I sweets
2 x ] = [ & Paige ’H’ sweets
I _7 Demi 7 sweets

(Total for question 2 is 3 marks)

3 ABC is a straight line.

The length of BC is three times the length of AB.

AC = 80 metres. 3|
Work out the length BC. BCc-: KRG

¥ =20
(_'L
o : — O 5
5 M= é 6 O metres

(Total for question 3 is 3 marks)

\ /




4

Carly and James share some money in the ratio 5 : 3
Carly gets £70 more than James.

Work out how much money James gets.

CArLY \éﬂ D?J E-S:\ @
Jrme S @ @@W

70

70 —~

(Total for question 4 is 3 marks)

Jerry and Mick share some money in the ratio 2 : 3
Mick gets £900

Work out how much money Jerry gets.

.jkﬁy Lyﬂ\jfi

Moicr 3 00| ] 300
\_)\/\————/
00

2%9:300 2 X 30C
£ 5§00

(Total for question 5 is 3 marks)

Ali and Steve share some sweets in the ratio 2 : 7
Ali gets 30 more sweets than Steve.

Work out how many sweets Steve gets.

Ao [E] L]

sme 2] [ 1L L4 €
" a—

36

§x7 = 42 "

(Total for question 6 is 3 marks)

/
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Dave is making cookies.
He mixes flour, butter and sugar in the ratio 6 :4 : 1

Dave uses 160 grams of butter.
Work out how much flour and sugar Dave uses.

N AN——

[ 6O
/62 —
{ 7o 6~ 10 flour 240 grams
X
( 4o sugar L’{’O grams
(Total for question 7 is 3 marks)
Alvin and Simon shared £540 in the ratio4 : 5 @_ l éél
Alvin gave half of his share to Theo. @ @ ° ‘ 6 0‘
Simon gave a tenth of his share to Theo. .
f éol
What fraction of the £840 did Theo receive? o
é_‘f/O, = £0
ALV ¢xb6o0 = 24O 7
« S5xko = JOO
Sim on/ / 5,.0 _ ’Lg_-
S5¢0 =7
| = 2.0
Twev gen 5 of 240 | = 2,
- 20 1%
/\__ o F R0 0 - iy
L& 5.
A 3 o= ISo ’ .
2o © —_— (Total for question 8 is 3 marks)
ABC is a straight line.
{ 29I 251 Q'Si 25{151
A B c
The length of BC is four times the length of AB. [ 60
BC = 100 metres.
Work out the length AC.
o _ 2
100 - )5
Y G x2S
) 2 5 metres

(Total for question 9 is 3 marks)

/




10 Bob is going to make some orange paint.
He needs to mix red paint, yellow paint and white paint in the ratio 5 : 4 : 1

Bob wants to make 750 m/ of orange paint.

Bob has
Womlofredpaint = F0° > F7#
300 m/ of yellow paint 3¢© = > ©

200 m/ of white paint zoo 7 75

Does Bob have enough red paint, yellow paint and white paint to make the orange paint?
You must show all your working. /

ep 179 [79 179 sl 1 Sx78 = 270
= 2300
Yoo 15l 129 173 [ s

P \ x 75
WS TE ?-7 S ]
750 V a5 €ntoug o it
/o
(Total for question 10 is 4 marks)
1 Megan is going to make a drink using the instructions below.

Mix 2 parts of fruit juice
with 5 parts of sparkling water

Megan has 180 m/ of ftuit juice and 400 m/ of sparkling water.

What is the greatest amount of the drink Megan can make?

with | SOmL o), 7&,-,,(,'% Jo(/'CQ

[ ) 9 ) B B

?O gxf%o = QLSOM/( No.\)(l(\d\
| &ND’\' €

E
el A YO0 ‘/“/

X o §
B HEREE .,

/& = Yoo (Total for question 11 is 3 marks)

e _/

e ®.
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12

In a bag there are only red counters, blue counters and white counters.
A counter is taken at random from the bag.

The table shows the probability of getting a red counter.

Colour Red Blue White
Probability 0.35 6. 26 e - 3‘7

the number of blue counters : the number of white counters =2 : 3

Complete the table.

) — 0. 35 - 0.65

0.5 _ 0.3 2x 0.3 = 0 26
//5/- 2x 013 o 379

(Total for question 12 is 4 marks)

13

Al, Tom and Joe share €3000.

The ratio of the amount Al gets to the amount Tom gets is in the ratio 5 : 4
Joe gets 1.5 times the amount Tom gets. c

(.G % &

Work out the amount of money that Tom gets. A
Doe 9 e

Ly ¢
o] o oo B Bl - el Bl ) ] ¢ B P

c Pa R

'300(9 - Loor _ 5w
1 5 3/
g4 X 20 0

e OO

(Total for question 13 is 4 marks)
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